1         2         3         4         5         6           DOOR : Repair/replace and providing/fixing for the dor items & related accessories with all labour and materials as per instruction of engineer incharane.         1	NAME OF WORK :Repair-Maintainance of Furniture Work and Other Miscellaneous Work at Kamdhenu Uuniversity, Gandhinagar. Measurement cum Abstract Sheet						
DOR: Repair/replace and providing/fixing for the door items & related accessories with all labour and materials as per instruction of engineer incharce.         1	ltem No.	Item Description	Per	RATE	Qty	Amount	
door items & related accessories with all labour and materials as per instruction of engineer 1 Closer         No         1750.00         10.00         1750.00           1         2 Cylindrical lock with keys         No         1350.00         5.00         3750.00           3 Aldrop with acc.         No         750.00         5.00         3750.00           4 Stopper with Rubber         No         150.00         100.00         2000           5 Hinges with acc.         No         150.00         10.00         2500.00           6 Ring/Round Lock with key         No         450.00         5.00         7550.00           7 SS. Handle with acc.         No         150.00         5.00         7550.00           7 SS. Handle with acc.         No         150.00         5.00         7550.00           9         Window: Repairing & Supplying Curtain of roller blinds/ZEBRA) with roller thread, with superior quality Vista make material & echanism with necessary fittings, futures and fastering etc. and glass film with all light/dark shade colours complete as per approved by the Engineer in Charae         Sqm         2250.00         10.00         22500.00           2 Glass film         Sqm         250.00         10.00         2500.00         10.00         2500.00           1 Drawer         No         450.00         10.00	1	2	3	4	5	6	
1         Closer         No         1750.00         10.00         1750.00           2         Cylindrical lock with keys         No         1350.00         5.00         6750.00           3         Aldrop wih acc.         No         100.00         20.00         2000           5         Hinges with acc.         No         150.00         10.00         1500           6         Ring/Round Lock with key         No         450.00         5.00         2250           7         S.S. Handle with acc.         No         150.00         5.00         750           4         Window : Repairing & Supplying Curtain of roller blinds/ZEBRA) with roller thread, with superior quality Vista make material & echanism with necessary fittings, fixtures and fastening etc. and glass film with all light/dark shade colours complete as per approved by the Engineer in Charace         250.00         10.00         22500           2         Glass film         Sqm         2250.00         10.00         2500           3         andle and related accessories per instruction of engineer in charge etc complete. Rate is inclusive of all labour, transportation and materials         0         0.00         2500           1         Drawer         No         450.00         10.00         4500           2         Key Board Trey         No <td></td> <td>door items &amp; related accessories with all labour and materials as per instruction of engineer</td> <td></td> <td></td> <td></td> <td></td>		door items & related accessories with all labour and materials as per instruction of engineer					
3 Aldrop wih acc.         No         750.00         5.00         3750           4 Stopper with Rubber         No         100.00         20.00         2000           5 Hinges with acc.         No         150.00         10.00         1500           6 Ring/Round Lock with key         No         450.00         5.00         2250           7 S.S. Handle with acc.         No         150.00         5.00         750           window: Repairing & Supplying Curtain of roller blinds(ZEBRA) with roller thread, with superior quality Vista make material & echanism with necessary fittings, fixtures and fastening etc. and glass film with all light/dark shade colours complete as per approved by the Engineer in Charace         1         2           1 Curtains/roller blinds         Sqm         250.00         10.00         22500           2 Glass film         Sqm         250.00         10.00         22500           3 andle and related accessories per instruction of engineer in charge etc complete. Rate is inclusive of all labour, trapsoprtation and materials         1         10.00         45000           1 Drawer         No         450.00         10.00         25000           2 Key Board Trey         No         250.00         10.00         25000           3 Mouse trey         No         250.00         10.00         25000			No	1750.00	10.00	17500.0	
4 Stopper with Rubber         No         100.00         20.00         2000           5 Hinges with acc.         No         150.00         10.00         1500           6 Ring/Round Lock with key         No         450.00         5.00         7250           7 S.S. Handle with acc.         No         150.00         5.00         750           Window : Repairing & Supplying Curtain of roller blinds(ZEBRA) with roller thread, with superior quality Vista make material & echanism with not all light/dark shade colours complete as per approved by the Engineer in Charae.         1         10.00         22500           1 Curtains/roller blinds         Sqm         2250.00         10.00         22500           2 Glass film         Sqm         250.00         10.00         2500           3 handle and related accessories per instruction of engineer in charge etc complete Rate is inclusive of all labour, transportation and materials         No         450.00         10.00         4500           1 Drawer         No         450.00         10.00         2500         450.00         10.00         4500           3 Mouse trey         No         250.00         10.00         4500         10.00         2500           4 Lock         No         250.00         10.00         5.00         3250         3250         3	1	2 Cylindrical lock with keys	No	1350.00	5.00	6750.0	
5 Hinges with acc.         No         150.00         10.00         15000           6 Ring/Round Lock with key         No         450.00         5.00         2250           7 S.S. Handle with acc.         No         150.00         5.00         755           window : Repairing & Supplying Curtain of roller blinds(ZEBRA) with roller thread, with superior quality Vista make material & echanism with necessary fittings, fixtures and fastening etc. and glass film with all light/dark shade colours complete as per approved by the Engineer in Charoe         5         2250.00         10.00         22500           2 Glass film         Sqm         2250.00         10.00         2500           2 Glass film         Sqm         2250.00         10.00         2500           3 engineer in charge etc complete.Rate is inclusive of all labour, transportation and materials         450.00         10.00         45000           1 Drawer         No         450.00         10.00         2500           4 Lock         No         250.00         10.00         45000           5 Handle         No         250.00         10.00         2500           4 Lock         No         250.00         10.00         3000           5 Handle         No         200.00         5.00         10000           6 Channels			No	750.00	5.00	3750.0	
6 Ring/Round Lock with key         No         450.00         5.00         2250           7 S.S. Handle with acc.         No         150.00         5.00         750           Window : Repairing & Supplying Curtain of roller blinds(ZEBRA) with roller thread, with superior quality Vista make material & echanism with necessary fittings, fixtures and fastening etc. and glass film with all light/dark shade colours complete as per approved by the Engineer in Charce         10.00         2250.00           2 Glass film         Sqm         250.00         10.00         22500           3 charce         No         450.00         10.00         22500           4 dual and related accessories per instruction of engineer in charge etc complete.Rate is inclusive of all labour, transportation and materials         No         450.00         10.00         4500           3 Mouse trey         No         450.00         10.00         2500           3 Mouse trey         No         450.00         10.00         4500           4 Lock         No         250.00         10.00         2500           5 Handle         No         200.00         5.00         1000           6 Channels         No         200.00         5.00         1000           7 Hole in Table         No         200.00         5.00         1000			No	100.00	20.00	2000.0	
7 S.S. Handle with acc.       No       150.00       5.00       750         Window : Repairing & Supplying Curtain of roller blinds(ZEBRA) with roller thread, with superior quality Vista make material & echanism with nglass film with all light/dark shade colours complete as per approved by the Engineer in Charace       1		5 Hinges with acc.	No	150.00	10.00	1500.0	
Window : Repairing & Supplying Curtain of roller blinds(ZEBRA) with roller thread, with superior quality Vista make material & echanism with necessary fittings, fixtures and fastening etc. and glass film with all light/dark shade colours complete as per approved by the Engineer in Charace           1 Curtains/roller blinds         Sqm         2250.00         10.00         22500           2 Glass film         Sqm         250.00         10.00         22500           3 dande and related accessories per instruction of engineer in charge etc complete.Rate is inclusive of all labour, transportation and materials         No         450.00         10.00         4500           1 Drawer         No         450.00         10.00         4500           2 Key Board Trey         No         450.00         10.00         2500           3 Mouse trey         No         250.00         10.00         4500           4 Lock         No         250.00         10.00         2500           5 Handle         No         200.00         5.00         1000           6 Channels         No         200.00         5.00         1000           7 Hole in Table         No         150.00         10.00         1500           0 Ver Head Storage: Repairing of Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height         150.00         10.00         1500<			No			2250.0	
blinds(ZEBRA) with roller thread, with superior quality Vista make material & echanism with necessary fittings, fixtures and fastening etc. and glass film with all light/dark shade colours complete as per approved by the Engineer in Charge         1       Curtains/roller blinds       Sqm       2250.00       10.00       22500         2       Glass film       Sqm       2250.00       10.00       22500         2       Glass film       Sqm       250.00       10.00       22500         3       mandle and related accessories per instruction of engineer in charge etc complete. Rate is inclusive of all labour, transportation and materials       No       450.00       10.00       45000         2       Key Board Trey       No       450.00       10.00       45000         3       Mouse trey       No       250.00       10.00       45000         4       Lock       No       200.00       5.00       10.00         5       Handle       No       200.00       5.00       1000         6       Channels       No       650.00       5.00       1000         6       Channels       No       10.00       1500         4       Lock       No       200.00       5.00       1000         5       Handle       No		7 S.S. Handle with acc.	No	150.00	5.00	750.0	
1 Curtains/roller blinds         Sqm         2250.00         10.00         2250.00           2 Glass film         Sqm         250.00         10.00         250.00           Table: Repair and providing/fixing of table drawer, handle and related accessories per instruction of engineer in charge etc complete.Rate is inclusive of all labour, transportation and materials         Image: Complete.Rate is inclusive of all labour, transportation and materials         Image: Complete.Rate is inclusive of all labour, transportation and materials         Image: Complete.Rate is inclusive of all labour, transportation and materials         Image: Complete.Rate is inclusive of all labour, transportation and materials         Image: Complete.Rate is inclusive of all labour, transportation and materials         Image: Complete.Rate is inclusive of all labour, transportation and materials         Image: Complete.Rate is inclusive of all labour, transportation and materials         Image: Complete.Rate is inclusive of all labour, transportation and materials           1 Drawer         No         450.00         10.00         450.00           2 Key Board Trey         No         4         Vert Head         No         250.00         10.00           3 Mouse trey         No         250.00         5.00         10.00         150.00           4 Lock         No         200.00         5.00         10.00         150.00           6 Channels         No         150.00         10.00	2	blinds(ZEBRA) with roller thread, with superior quality Vista make material & echanism with necessary fittings, fixtures and fastening etc. and glass film with all light/dark shade colours complete as per approved by the Engineer in					
2 Glass film       Sqm       250.00       10.00       2500         Table: Repair and providing/fixing of table drawer, handle and related accessories per instruction of engineer in charge etc complete.Rate is inclusive of all labour, transportation and materials       1       10.00       450.00         1 Drawer       No       450.00       10.00       4500         2 Key Board Trey       No       450.00       10.00       4500         3 Mouse trey       No       250.00       20.00       5000         4 Lock       No       200.00       5.00       1000         5 Handle       No       200.00       5.00       1000         6 Channels       No       200.00       5.00       1000         8 Hinges       No       150.00       10.00       1500         Over Head Storage: Repairing of Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with vertical and horizontal surface 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete as per instruction of engineer-in charge.			Sam	2250.00	10.00	22500.0	
3       Table: Repair and providing/fixing of table drawer, handle and related accessories per instruction of engineer in charge etc complete.Rate is inclusive of all labour, transportation and materials       1         1       Drawer       No       450.00       10.00       4500         2       Key Board Trey       No       450.00       10.00       4500         3       Mouse trey       No       250.00       10.00       4500         3       Mouse trey       No       250.00       10.00       2500         4       Lock       No       250.00       20.00       5000         5       Handle       No       250.00       10.00       3250         7       Hole in Table       No       200.00       5.00       1000         8       Hinges       No       150.00       10.00       1500         0ver Head Storage: Repairing of Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height       storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with       4       vertical and horizontal surface 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete as per instruction of engineer-in charge.       No       500.00       10.00						2500.0	
3       handle and related accessories per instruction of engineer in charge etc complete. Rate is inclusive of all labour, transportation and materials       -         1       Drawer       No       450.00       10.00       45000         2       Key Board Trey       No       450.00       10.00       45000         3       Mouse trey       No       250.00       10.00       25000         4       Lock       No       250.00       20.00       5000         5       Handle       No       200.00       5.00       1000         6       Channels       No       200.00       5.00       1000         6       Channels       No       200.00       5.00       1000         8       Hinges       No       150.00       10.00       1500         0       Ver       Head Storage: Repairing of Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with       Image: No       Image: No       Image: No         4       vertical and horizontal surface 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete as per instruction of engineer-in charge.       Image: No			<u>oqiii</u>	200.00	10.00	2000.0	
2 Key Board Trey         No         450.00         10.00         450.00           3 Mouse trey         No         250.00         10.00         250.00           4 Lock         No         250.00         20.00         500.00           5 Handle         No         200.00         5.00         1000           6 Channels         No         650.00         5.00         1000           7 Hole in Table         No         200.00         5.00         1000           8 Hinges         No         150.00         10.00         150.00           0ver Head Storage: Repairing of Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with         Image: Storage 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete. Including all materials & labour etc. complete as per instruction of engineer-in charge.         500.00         10.00         500.00           1 Door         No         500.00         20.00         500.00         500.00           2 Lock         No         250.00         20.00         500.00           3 Handle         No         10.00         10.00         10.00	3	handle and related accessories per instruction of engineer in charge etc complete.Rate is inclusive					
3 Mouse trey         No         250.00         10.00         25000           4 Lock         No         250.00         20.00         5000           5 Handle         No         200.00         5.00         1000           6 Channels         No         650.00         5.00         3250           7 Hole in Table         No         200.00         5.00         1000           8 Hinges         No         150.00         10.00         1500           Over Head Storage: Repairing of Over Head         No         150.00         10.00         1500           0ver Head Storage: Repairing of Over Head         No         150.00         10.00         1500           0ver Head Storage: (0.60 Height & 0.45 Depth) Providing and fixing low height         storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with		1 Drawer	No	450.00	10.00	4500.0	
4 Lock       No       250.00       20.00       5000         5 Handle       No       200.00       5.00       1000         6 Channels       No       650.00       5.00       3250         7 Hole in Table       No       200.00       5.00       1000         8 Hinges       No       200.00       5.00       1000         8 Hinges       No       150.00       10.00       1500         Over Head Storage: Repairing of Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height         storage (0.60 Height & 0.45 Depth) Providing and fixing low height       Image: Construction of provide the storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with       Image: Complete and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete. Including all materials & labour etc. complete as per instruction of engineer-in charge.       Image: Complete.       10.00       5000         1 Door       No       500.00       10.00       5000         2 Lock       No       200.00       5.00       1000         3 Handle       No       150.00       10.00       1500		2 Key Board Trey	No	450.00	10.00	4500.0	
5 HandleNo200.005.0010006 ChannelsNo650.005.0032507 Hole in TableNo200.005.0010008 HingesNo150.0010.001500Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with vertical and horizontal surface 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete as per instruction of engineer-in charge.No500.0010.0050001 DoorNo500.0010.00500020.0050003 HandleNo200.005.0010.0010004 HingesNo150.0010.001500			No			2500.0	
6 Channels       No       650.00       5.00       3250         7 Hole in Table       No       200.00       5.00       1000         8 Hinges       No       150.00       10.00       1500         Over Head Storage: Repairing of Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with vertical and horizontal surface 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete. Including all materials & labour etc. complete as per instruction of engineer-in charge.       500.00       10.00       5000         1 Door       No       500.00       10.00       5000         2 Lock       No       250.00       20.00       5000         3 Handle       No       150.00       10.00       15000			No	250.00	20.00	5000.0	
7 Hole in TableNo200.005.0010008 HingesNo150.0010.001500Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with vertical and horizontal surface 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete as per instruction of engineer-in charge.No500.0010.0050001 DoorNo500.0010.0050002 LockNo250.0020.0050003 HandleNo150.0010.001500			No			1000.0	
8 Hinges       No       150.00       10.00       1500         Over Head Storage: Repairing of Over Head Storage (0.60 Height & 0.45 Depth) Providing and fixing low height storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with vertical and horizontal surface 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete. Including all materials & labour etc. complete as per instruction of engineer-in charge.       No       500.00       10.00       5000         1 Door       No       500.00       10.00       5000         2 Lock       No       250.00       20.00       5000         3 Handle       No       150.00       10.00       1500			No			3250.0	
Over Head Storage:         Repairing of Over Head           Storage (0.60 Height & 0.45 Depth) Providing and         fixing low height           storage with 25mm thick (partical board, interior         grade) top and shutter 19mm made from post           forming in approved shade with         vertical and horizontal surface 19mm plywood with           inside 0.8mm and outside 1mm laminate finish. All         teakwood bidding should be finished by melamine           polish with         support of M.S. Angles, lock, handle, etc.           complete.         Including all materials & labour etc.           complete as per instruction of engineer-in charge.         No           1 Door         No         500.00           2 Lock         No         250.00         20.00           3 Handle         No         150.00         10.00						1000.0	
Storage (0.60 Height & 0.45 Depth) Providing and fixing low height storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade withImage: Construction of a structure outside 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete as per instruction of engineer-in charge.No500.0010.00500001 DoorNo500.0010.005000010.00500002 LockNo250.0020.005000010.00100004 HingesNo150.0010.0015000010.00150000		8 Hinges	No	150.00	10.00	1500.0	
1 Door         No         500.00         10.00         5000           2 Lock         No         250.00         20.00         5000           3 Handle         No         200.00         5.00         1000           4 Hinges         No         150.00         10.00         1500	4	Storage (0.60 Height & 0.45 Depth) Providing and fixing low height storage with 25mm thick (partical board, interior grade) top and shutter 19mm made from post forming in approved shade with vertical and horizontal surface 19mm plywood with inside 0.8mm and outside 1mm laminate finish. All teakwood bidding should be finished by melamine polish with support of M.S. Angles, lock, handle, etc. complete. Including all materials & labour etc.					
2 Lock         No         250.00         20.00         5000           3 Handle         No         200.00         5.00         1000           4 Hinges         No         150.00         10.00         15000			No	500 00	10.00	5000 (	
3 Handle         No         200.00         5.00         1000           4 Hinges         No         150.00         10.00         15000							
4 Hinges No 150.00 10.00 1500							
						2500.0	

tem No.	Item Description	Per	RATE	Qty	Amount
	CupBorad : Steel Almirah (Big): * Cupboard with				
	4 shelves * KB-17-A (Ref.) 915 X 485 X 1980mm				
	Cupboard-made out of 0.8 mm the CRCA sheet				
	with Spray/powder coating finish in Gray/Off White				
5	Colour with all necessary fitting such as Lock,				
	Handle, Hinges, Shelve support, Drawer etc –				
	Repair and providing/fixing of Cupboard Lock,				
	Handle, Hinges, Shelve support, Drawer, Doors				
	etc 1 Cupboard	No	15000.00	2.00	30000.00
	2 Lock	No	750.00	5.00	3750.00
	3 Hinges	No	1000.00	5.00	5000.00
	4 Shelves	No	1500.00	3.00	4500.00
	5 Handle	No	450.00		4500.00
	6 Door	No	2500.00	1.00	2500.00
	Sofa: Reparing of 2 Seater, 3 seated sofa.				
	Repairing of wooden/metal furniture section				
	created necessity support for sofa.				
	Repairing/peplacing Seat support, cushion, U-				
6	Foam finishing, sofa cover set , sofa metress set,				
-	leather rexin as per selected sample, S.S. chrome				
	pipe finish with legs and handle support also as				
	shown in real imaze Including all materials and				
	labour etc. complete as per detail and instruction				
	1 Leg	No	1500.00	8.00	12000.00
	2 Handle	No	1500.00	6.00	9000.00
	3 U foam Finishing	No	2500.00	1.00	2500.00
	4 Leather Rexin	rmt	850.00	10.00	8500.00
	5 Seat support	No	2500.00	1.00	2500.00
	6 Sofa cover set	No	3500.00	2.00	7000.00
	7 Sofa Metress set	No	2500.00	2.00	5000.00
	Partition: Partition (Wooden) Repairing and fixing				
	full and low height partition and glass partition with				
	installation upto ceiling or beam bottom as per				
	drawing and framing the skeleton (plywood frame				
	structure) thick vertical and horizontal plywood				
7	(patti) both side cover for grooving as per design.				
Ĩ	make hole/face plate for conduit pipes of electrical				
	/ networking cables with openable stud from				
	partition Including all materials and labour etc.				
	complete as per detail instruction of engineer-in				
	complete as per detail instruction of engineer-in charge				
	1Hole in wooden partition	No	450.00	5.00	2250.00
	2 Framing with Alu. Materials	rmt	450.00		4500.00
	3 Shifting ot removing low hight wooden	m	850.00	8.00	6800.00
	partrtion	rmt	000.00	0.00	0000.00
	4 Fixing of wooden Parttion	rmt	1250.00	10.00	12500.00
		mit	1200.00	10.00	12000.00

ltem No.	Item Description	Per	RATE	Qty	Amount
	Chair: Repairing of all revolving chair , visitor chair, executive				
	chair, High back, low back revolving chair of overall size.				
	Repairing of seat. Soft PU handle, thick pipe, five prone stand				
	with castors, Single position lock, and tilt mechanism made from				
	M.S. sheet, duly powder coated 40 to 50 micron. Revolving synchro tilting mechanism based chair with gas lift for adjustable				
	height and medium curved back with seat and back PU				
	moulded cushion with MS pipe frame structure and foam layer				
	for seat and molded PU foam. arm rest The complete back is				
	countoured to provide the needed lumbar support for long				
	seating hours. The seat is made up of moulded				
	foam,upholstered with fabrics.Foam This mechanism provides				
	you with the out most comfort while leaning backwards.There is				
	adisplacement in the ratio of 1:3 between seat and back				
	respectively. The synchro PNEUMATIC HEIGHT				
	ADJUSTMENT : TELESCOPIC BELLOW ASSEMBLY:				
	PEDESTAL ASSEMBLY : CASTORS: hotography mechanism				
	is designed with 360 Degree revolving feature, Tilt tension adjustment and Upright locking.				
	1 Arm Rest	No	450.00	10 00	4500.00
	2 Castors wheels	No	250.00	5.00	1250.00
	3 Bottem Plate	No	500.00	5.00	2500.00
	4 Telescopic bellow Assembly	No	1250.00	5.00	6250.00
		No			
	5 Seat Tilt Adjuster	No	650.00	5.00 5.00	3250.00
	6 Pedestal Assembly		1500.00		7500.00
	7 Mechanism based chair with gas lift	No	1550.00	5.00	7750.00
	8. gas Spring	No	650.00	5.00	3250.00
	9. Gas Cylinder kit	No	1200.00	5.00	6000.00
	10. Leather/Rexin cover	RMT	450.00	5.00	2250.00
	Electrification Work: Point wiring for Light / Fan/				
	Bell/AC/Computer/Server/				
	Primary Point with 2-1.5 sq. mm &				
	earthwire of 1.5 sq. mm (green) both are of ISI marked 1.1 kv grade				
	FRLS PVC insulated multistrand				
	copper wires, in following type of pipe				
	to be erected concealed in /flushed				
	on wall/ceiling , complete with 6A				
	Tissino Type ISI marked flush type				
	switch / bell push and accessories				
	erected on Metal / PVC Box covered				
	with thick PC(Polycarbonet)				
	/Acrylic sheet. Providing following type of Accessories				
	mounted with pvc / metallic box, single mounting base				
	frame covered with textured / metallic front plate ,				
	modules erected with necessary connection and plug				
	point and complete wiring with all labours and metrrilas				
	as per detail instruction of engineer-in charge 1 SP 6 Amp		150.00	15.00	2250.00
	· · · · · · · · · · · · · · · · · · ·		250.00		2500.00
	2 SP 6/16 Amp universal socket				
	3 5 Pin Plug		150.00		1500.00
	4 Switch		50.00	10.00	500.00
	5 Flexible conduit pvc bushes, coupling, check	mtr	150.00	10.00	1500.00
	nuts, etc		150.00		
	6 6 Amp bell push		150.00	10.00	1500.00
	7 2 Wire 2.5 sq mm	mtr		10.00	808.00
	8 4 Wire 4 sq mm	mtr	126.25		1262.50
	9 Lane Cable	mtr	80.00	10.00	800.00
	10 6A/10A/16A/20A/25A/32A	No	150 00	10.00	1500 00
	Single pole Modular MCB Switch	No	450.00	10.00	4500.00
	12 Fan capacitor	No	50.00	10.00	500.00
	13 6A/ 10A/ 16A/ 20A/ 25A/ 32A		333.30		3333.00
		No			

Item No.	Item Description	Per	RATE	Qty	Amount
	16/20/25 Amp. Modular Starter for Motor / A.C. Unit Complete	No	404.00	15.00	6060.00
	pvc pipe and accessories	Rft	67.67	50.00	3383.50
	TOTAL AMOUNT		RS.		295447.00
	1% labour cess				2954.47
	Total				298401.47
	SAY TOTAL Rs		•		298500.00
	In words- Rupees Two Lakh Ninety Eight Thou	sand Fi	ve Hundred	only.	